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04 FNSEH =L 4,200 4,200 0
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= 26,650
s 69,645
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& 560
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HE ZAI KR AL 80,617 67,266 13,351
101 Q121 H| 15,999 15,999 0
04 JI2ZtHIZ2 2 NEES 15,999 15,999 0
OMEZ2AIXIF ELAXA L ZADA =X
40,4003 *3Y x 120 *23| x50% 14,544
o482 14,544,000 *10% 1,455
201 gEt24H | 64,018 51,267 12,751
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100 «5,0000H 500
~ZAE 2RE Mo 7Y
5,000 x50 % 250
— N Z2AIKIZ2A EES S0 HEZ
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s 2,940
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OFILAHAEHSFHAL 5,000
= 1,500
< 560
s 2,940
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101 @124 dl 2,667 2,667 0
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OANEE = 6,700
—EZ2ZE 25,000 =444 1,100
— K oHLY & 400,000& * 144 5,600
EZ2HEFAIEE /AXNEEE HEAY 7,894 0 7,894
403 UHtXSHHE =0l 7,894 0 7,894
02 S| 2SO0l CHSHCH & A H 7,894 0 7,894
OE2g=4 FEAAE 2948 K& 7,894
- 23X 5,800
— GISAA S/W 1,862
—E2EFA JIEE MY 232
SEHQ NEHR =& 781,448 874,661 A 93,213
= 300,000
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s 458,648
ANEB2EH 12,635 221,290 A 208,655
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—XNEZ2 0/BAMHE ELHUAI E2HEXN +
= 33,0002 *x20E 660
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— EXNOISZAN B2z 26,200 25 655
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